BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES TO SERVE LANDING BLVD PHASE II & ERVIN STREET PHASE IV GALVESTON COUNTY MUNICIPAL UTILITY DISTRICT NO. 73 CITY OF LEAGUE CITY, GALVESTON COUNTY, TEXAS **DECEMBER 06, 2024** LIA ENGINEERING, INC.

PENING DATE:	DECEMBER 06, 2024	
PENING LOCATION:	LIA ENGINEERING, INC.	
ATION BY:	C CORTEZ	
ATION DATE:	DECEMBER 09, 2024	
B NO.	0386-3066A (9.2)	
		1110
BIDDER NAME	BASE BID	
11 000000	C1 070 700 40	
1) CRACON, INC	\$1,870,798.49	
2) ICON GC LLC	\$2,070,000.00	
3) BLAZEY CONSTRUCTION SERVICES LLC	\$2,209,611.36	
4) R CONSTRUCTION CIVIL, LLC	\$3,707,831.20	
	Millian	CE TO THE PARTY OF
	SSEA TAILE.	E
30/40	75	V 10.18
	<i>3</i> ★/	
	S. JAMES J	. POTTHARST
	3.0. 13	2287

I, JAMES POTTHARST, P.E., hereby certify these bid tabulations to be true and correct.



BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LIA JOB NO. CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES TO SERVE LANDING BLVD PHASE II & ERVIN STREET PHASE IV GALVESTON COUNTY MUNICIPAL UTILITY DISTRICT NO. 73 CITY OF LEAGUE CITY, GALVESTON COUNTY, TEXAS DECEMBER 06, 2024
LIA ENGINEERING, INC.
C CORTEZ
DECEMBER 09, 2024
0386-3066A (9.2)

			1) CRACON, INC		2) ICON GC LLC		3) BLAZEY CONSTRUCTION SERVICES LLC		4) R CONSTRUCTION CIVIL, LLC	
NO. ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
LANDING BOULEVARD PHASE 2 WATER SYSTEM ITEMS 1. 8" P.V.C. WATER PIPE, AWWA C-900, DR 18, CLASS 235, ALL DEPTHS, INCLUDES BEDDING AND BACKFILL, RESTRAINED JOINTS WHERE NECESSARY, AND ALL NECESSARY APPURTENANCES, COMPLETE IN PLACE	LF	43	\$65.00	\$2,795.00	\$64.00	\$2,752.00	\$50.00	\$2,150.00	\$86.00	\$3,698.00
 12" P.V.C. WATER PIPE, AWWA C-900, DR 18, CLASS 235, ALL DEPTHS, INCLUDES BEDDING AND BACKFILL, RESTRAINED JOINTS WHERE NECESSARY, AND ALL NECESSARY APPURTENANCES, COMPLETE IN PLACE 	LF	1462	\$66.50	\$97,223.00	\$76.00	\$111,112.00	\$82.00	\$119,884.00	\$90.00	\$131,580.00
3. 24" P.V.C. WATER PIPE, AWWA C-900, DR 18, CLASS 235, ALL DEPTHS, INCLUDES BEDDING AND BACKFILL, RESTRAINED JOINTS WHERE NECESSARY, AND ALL NECESSARY APPURTENANCES, COMPLETE IN PLACE	LF	140	\$311.00	\$43,540.00	\$330.00	\$46,200.00	\$191.00	\$26,740.00	\$250.00	\$35,000.00
 REMOVE AND DISPOSE OFFSITE OF EXISTING WATER LINE, (ALL SIZES), ALL DEPTHS, COMPLETE IN PLACE 	LF	92	\$14.90	\$1,370.80	\$23.00	\$2,116.00	\$14.00	\$1,288.00	\$35.00	\$3,220.00
5. FIRE HYDRANT UNIT, ALL DEPTHS, INCLUDING ALL APPURTENANCES, COMPLETE IN PLACE	EA	4	\$7,580.00	\$30,320.00	\$7,630.00	\$30,520.00	\$6,677.00	\$26,708.00	\$9,300.00	\$37,200.00
BLUE DEAD END FIRE HYDRANT UNIT, ALL DEPTHS, INCLUDING ALL APPURTENANCES, COMPLETE IN PLACE	EA	1	\$7,260.00	\$7,260.00	\$7,300.00	\$7,300.00	\$5,083.00	\$5,083.00	\$8,200.00	\$8,200.00
 REMOVE AND DISPOSE OF BLUE DEAD END FIRE HYDRANT UNIT AND CONNECT PROPOSED WATERLINE TO EXISTING WATERLINE, ALL DEPTHS, INCLUDING ALL APPURTENANCES, COMPLETE IN PLACE 	EA	1	\$848.00	\$848.00	\$580.00	\$580.00	\$2,436.00	\$2,436.00	\$4,700.00	\$4,700.00
8. 8" RESILIENT SEATED GATE VALVE WITH BOX, INCLUDING ALL APPURTENANCES, COMPLETE IN PLACE	EA	1	\$2,588.00	\$2,588.00	\$2,385.00	\$2,385.00	\$2,117.00	\$2,117.00	\$2,800.00	\$2,800.00
12" RESILIENT SEATED GATE VALVE WITH BOX, INCLUDING ALL APPURTENANCES, COMPLETE IN PLACE	EA	3	\$1,188.00	\$3,564.00	\$4,200.00	\$12,600.00	\$3,917.00	\$11,751.00	\$5,100.00	\$15,300.00
 24" AWWA BUTTERFLY VALVE WITH BOX, INCLUDING ALL APPURTENANCES, COMPLETE IN PLACE 	EA	1	\$16,250.00	\$16,250.00	\$15,500.00	\$15,500.00	\$12,685.00	\$12,685.00	\$27,000.00	\$27,000.00
11. DUCTILE IRON WATERLINE FITTINGS, COMPLETE IN PLACE	TON	1.28	\$4,740.00	\$6,067.20	\$10.00	\$12.80	\$9,723.00	\$12,445.44	\$18,000.00	\$23,040.00
12. TRENCH SAFTEY SYSTEM, ALL DEPTHS, ALL SIZES, COMPLETE IN PLACE	LF	1505	\$2.00	\$3,010.00	\$2.00	\$3,010.00	\$2.00	\$3,010.00	\$2.00	\$3,010.00
SUBTOTAL LANDING BOULEVARD PHASE 2 WATER SYSTEM ITEMS			-	\$214,836.00	_	\$234,087.80	-	\$226,297.44	_	\$294,748.00
ERVIN STREET PHASE 4 WATER SYSTEM ITEMS 1. 8" P.V.C. WATER PIPE, AWWA C-900, DR 18, CLASS 235, ALL DEPTHS, INCLUDES BEDDING AND BACKFILL, RESTRAINED JOINTS WHERE NECESSARY, AND ALL NECESSARY APPURTENANCES, COMPLETE IN PLACE	LF	142	\$39.00	\$5,538.00	\$46.00	\$6,532.00	\$51.00	\$7,242.00	\$92.00	\$13,064.00
2. REMOVE AND DISPOSE OFFSITE OF EXISTING WATER LINE, (ALL SIZES), ALL DEPTHS, COMPLETE IN PLACE	LF	36	\$14.88	\$535.68	\$23.00	\$828.00	\$14.00	\$504.00	\$90.00	\$3,240.00
BLUE DEAD END FIRE HYDRANT UNIT, ALL DEPTHS, INCLUDING ALL APPURTENANCES, COMPLETE IN PLACE	EA	1	\$7,565.00	\$7,565.00	\$7,620.00	\$7,620.00	\$5,083.00	\$5,083.00	\$9,300.00	\$9,300.00
4. 24" AWWA BUTTERFLY VALVE WITH BOX, INCLUDING ALL APPURTENANCES, COMPLETE IN PLACE	EA	2	\$16,000.00	\$32,000.00	\$15,500.00	\$31,000.00	\$12,685.00	\$25,370.00	\$27,000.00	\$54,000.00
5. REMOVE AND DISPOSE OF 24" AWWA BUTTERFLY VALVE WITH BOX, COMPLETE IN PLACE	EA	1	\$430.00	\$430.00	\$365.00	\$365.00	\$1,636.00	\$1,636.00	\$1,300.00	\$1,300.00 FRN F-13

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LIA JOB NO.

ALL DEPTHS, COMPLETE IN PLACE

CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES TO SERVE LANDING BLVD PHASE II & ERVIN STREET PHASE IV GALVESTON COUNTY MUNICIPAL UTILITY DISTRICT NO. 73 CITY OF LEAGUE CITY, GALVESTON COUNTY, TEXAS DECEMBER 06, 2024 LIA ENGINEERING, INC. C CORTEZ DECEMBER 09, 2024 0386-3066A (9.2)

			1) CRACON, INC		2) ICON GC LLC		3) BLAZEY CONSTRUCTION SERVICES LLC		4) R CONSTRUCTION CIVIL, LLC	
NO. ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
6. 24" X 8" TAPPING SLEEVE AND VALVE & BOX, COMPLETE IN PLACE	EA	1	\$22,450.00	\$22,450.00	\$23,900.00	\$23,900.00	\$13,538.00	\$13,538.00	\$18,000.00	\$18,000.00
7. DUCTILE IRON WATERLINE FITTINGS, COMPLETE IN PLACE	TON	0.23	\$5,000.00	\$1,150.00	\$10.00	\$2.30	\$33,480.00	\$7,700,40	\$1,500.00	\$345.00
8. TRENCH SAFETY SYSTEM, ALL DEPTHS, ALL SIZES, COMPLETE IN PLACE	LF	142	\$2.00	\$284.00	\$2.00	\$284.00	\$2.00	\$284.00	\$2.00	\$284.00
BTOTAL ERVIN STREET PHASE 4 WATER SYSTEM ITEMS				\$69,952.68		\$70,531.30	-	\$61,357.40		\$99,533.00
NDING BOULEVARD PHASE 2 SANITARY SEWER ITEMS 1. 8" P.V.C. SEWER PIPE (GREEN), ASTM D-3034, SDR 26, 12' – 16' DEPTH, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	145	\$351.00	\$50,895.00	\$58.00	\$8,410,00	\$79.00	\$11,455.00	\$70.00	\$10,150.00
 10" P.V.C. SEWER PIPE (GREEN), ASTM D-3034, SDR 26, 24' - 28' DEPTH, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE 	LF	199	\$210.00	\$41,790.00	\$165.00	\$32,835.00	\$177.00	\$35,223.00	\$175.00	\$34,825.00
3. 12" P.V.C. SEWER PIPE (GREEN), ASTM D-3034, SDR 26, 24' - 28' DEPTH, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	667	\$80.00	\$53,360.00	\$185.00	\$123,395.00	\$190.00	\$126,730.00	\$180.00	\$120,060.00
 18" P.V.C. SEWER PIPE (GREEN), ASTM F-679, SDR 26, 28' - 32' DEPTH, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE 	LF	647	\$183.00	\$118,401.00	\$235.00	\$152,045.00	\$332.00	\$214,804.00	\$270.00	\$174,690.00
5. STANDARD SANITARY SEWER MANHOLE FOR 6" – 24" SANITARY SEWER PIPES, (0"-8" DEPTH), INCLUDING INTERIOR COATING, COMPLETE IN PLACE	EA	7	\$5,500.00	\$38,500.00	\$7,500.00	\$52,500.00	\$4,298.00	\$30,086.00	\$8,900.00	\$62,300.00
6. EXTRA DEPTH OF SANITARY SEWER MANHOLES (OVER 8' DEPTH), COMPLETE IN PLACE	VF	133.61	\$355.00	\$47,431.55	\$1.00	\$133.61	\$240.00	\$32,066.40	\$340.00	\$45,427.40
7. FINAL ADJUSTMENTS TO SANITARY MANHOLES, INCLUDING EXISTING MANHOLES, COMPLETE IN PLACE	EA	7	\$355.00	\$2,485.00	\$1.00	\$7.00	\$86.00	\$602.00	\$150.00	\$1,050.00
8. STANDARD 2' SANITARY SEWER DROP STRUCTURE, COMPLETE IN PLACE	EA	3	\$1,555.00	\$4,665.00	\$1,325.00	\$3,975.00	\$1,235.00	\$3,705.00	\$1,300.00	\$3,900.00
9. EXTRA VERTICAL DEPTH (OVER 2') FOR SANITARY SEWER DROP STRUCTURE, COMPLETE IN PLACE	VF	23.68	\$77.00	\$1,823.36	\$1.00	\$23.68	\$44.00	\$1,041.92	\$35.00	\$828.80
10. REMOVE AND DISPOSE OF EXISTING 10" PVC FORCE MAIN, C-900, DR-18, CLASS 235, RESTRAINED JOINT PIPE, ALL DEPTHS, INCLUDES RESTRAINED JOINT FITTINGS & BEDDING AND BACKFILL, AT THE DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	LF	1565	\$13.00	\$20,345.00	\$22.00	\$34,430,00	\$30.00	\$46,950.00	\$170.00	\$266,050.00
11. 10" PVC FORCE MAIN, C-900, DR 18, CLASS 235, RESTRAINED JOINT PIPE, ALL DEPTHS, INCLUDES BEDDING AND BACKFILL, RESTRAINED JOINTS WHERE NECESSARY, AND ALL NECESSARY APPURTENANCES, COMPLETE IN PLACE	LF	1596	\$93.00	\$148,428.00	\$142.00	\$226,632.00	\$123.00	\$196,308.00	\$200.00	\$319,200.00
12. EXISTING 10" PVC FORCE MAIN (SERVING 225 ACTIVE CONNECTIONS) TO BE PUMPED AND HAULED 0.5 MILES ALONG EXISTING ACCESS ROAD TO TYPICAL DISCHARGE POINT, AS NEEDED, AS DIRECTED BY ENGINEER, COMPLETE IN PLACE	LS	1	\$20,000.00	\$20,000.00	\$3,500.00	\$3,500.00	\$42,674.00	\$42,674.00	\$200,000.00	\$200,000.00
13. 24" STEEL CASING FOR PROPOSED 18" SANITARY LINE, INCLUDING ALL NECESSARY APPURTENANCES, COMPLETE IN PLACE	LF	208	\$183.00	\$38,064.00	\$165.00	\$34,320.00	\$172.00	\$35,776.00	\$360.00	\$74,880.00
14. BORE AND JACK INSTALLATION OF 24" STEEL CASING FOR 18" SANITARY SEWER (DOES NOT INCLUDE PIPE), AT THE DIRECTION OF THE ENGINEER,	LF	228	\$430.00	\$98,040.00	\$185.00	\$42,180.00	\$425.00	\$96,900.00	\$1,900.00	\$433,200.00

FRN F-1386 LIA Engineering, Inc.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LIA JOB NO. CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES TO SERVE LANDING BLVD PHASE II & ERVIN STREET PHASE IV GALVESTON COUNTY MUNICIPAL UTILITY DISTRICT NO. 73 CITY OF LEAGUE CITY, GALVESTON COUNTY, TEXAS DECEMBER 06, 2024

LIA ENGINEERING, INC.
C CORTEZ
DECEMBER 09, 2024
0386-3066A (9.2)

			1) CRACON, INC		2) ICON GC LLC		3) BLAZEY CONSTRUCTION SERVICES LLC		4) R CONSTRUCTION CIVIL, LLC	
NO. ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
15. SHEET PILING AND SHORING BOX NECESSARY FOR INSTALLATION OF 18" SANITARY VIA BORE AND JACK BETWEEN MANHOLES S-9 & EXISTING S-2, INCLUDING ALL EQUIPMENT, NECESSARY SIGNED AND SEALED ENGINEERING DRAWINGS, AND APPURTENANCES, AT THE DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	EA	2	\$15,000.00	\$30,000.00	\$15,000.00	\$30,000.00	\$78,917.00	\$157,834.00	\$180,000.00	\$360,000.00
16. DEWATERING PER LF OF PIPE (NO SEPARATE PAY FOR DOUBLE ROW IF NEEDED), ALL DEPTHS, (THIS IS AN ESTIMATED QUANTITY TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	LF	1658	\$20.00	\$33,160.00	\$25.00	\$41,450.00	\$27.00	\$44,766.00	\$50.00	\$82,900.00
17. T.V. INSPECTION OF SANITARY SEWER LINES, TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	LF	1717	\$3.00	\$5,151.00	\$3.00	\$5,151.00	\$3.00	\$5,151.00	\$3.00	\$5,151.00
18. TRENCH SAFETY SYSTEM, ALL DEPTHS, ALL SIZES, COMPLETE IN PLACE	LF	1658	\$2.00	\$3,316.00	\$2.00	\$3,316.00	\$2.00	\$3,316.00	\$2.00	\$3,316.00
 CORE INTO EXISTING SANITARY SEWER MANHOLE AND CONNECT PROPOSED 18" SANITARY SEWER, COMPLETE IN PLACE 	EA	1	\$1,800.00	\$1,800.00	\$2,500.00	\$2,500.00	\$4,618.00	\$4,618.00	\$2,000.00	\$2,000.00
 REMOVE AND OFFSITE DISPOSAL OF EXISTING SANITARY SEWER PLUG AND CONNECT PROPOSED SANITARY SEWER (ALL SIZES), ALL DEPTHS, COMPLETE IN PLACE 	EA	2	\$600.00	\$1,200.00	\$150.00	\$300.00	\$1,504.00	\$3,008.00	\$800.00	\$1,600.00
SUBTOTAL LANDING BOULEVARD PHASE 2 SANITARY SEWER ITEMS				\$758,854.91	-	\$797,103.29		\$1,093,014.32	- Teles	\$2,201,528.20
ERVIN STREET PHASE 4 SANITARY SEWER ITEMS 1. 8" P.V.C. SEWER PIPE (GREEN), ASTM D-3034, SDR 26, 20' - 24' DEPTH, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	329	\$171.00	\$56,259.00	\$115.00	\$37,835.00	\$129.00	\$42,441.00	\$140.00	\$46,060.00
 8" P.V.C. SEWER PIPE (GREEN), ASTM D-3034, SDR 26, 24' - 28' DEPTH, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE 	LF	413	\$141.50	\$58,439.50	\$135.00	\$55,755.00	\$167.00	\$68,971.00	\$220.00	\$90,860.00
3. 10" P.V.C. SEWER PIPE (GREEN), ASTM D-3034, SDR 26, 24' - 28' DEPTH, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	64	\$121.00	\$7,744.00	\$147.00	\$9,408.00	\$177.00	\$11,328.00	\$380.00	\$24,320.00
 STANDARD SANITARY SEWER MANHOLE FOR 6" – 24" SANITARY SEWER PIPES, (0"-8" DEPTH), INCLUDING INTERIOR COATING, COMPLETE IN PLACE 	EA	5	\$5,500.00	\$27,500.00	\$7,500.00	\$37,500.00	\$4,298.00	\$21,490.00	\$13,000.00	\$65,000.00
5. EXTRA DEPTH OF SANITARY SEWER MANHOLES (OVER 8' DEPTH), COMPLETE IN PLACE	VF	86.1	\$355.00	\$30,565.50	\$1.00	\$86.10	\$240.00	\$20,664.00	\$340.00	\$29,274.00
6. FINAL ADJUSTMENTS TO SANITARY MANHOLES, INCLUDING EXISTING MANHOLES, COMPLETE IN PLACE	EA	5	\$355.00	\$1,775.00	\$1.00	\$5.00	\$29.00	\$145.00	\$150.00	\$750.00
 DEWATERING PER LF OF PIPE (NO SEPARATE PAY FOR DOUBLE ROW IF NEEDED), ALL DEPTHS, (THIS IS AN ESTIMATED QUANTITY TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE 	LF	806	\$20.00	\$16,120.00	\$25.00	\$20,150.00	\$27.00	\$21,762.00	\$50.00	\$40,300.00
8. T.V. INSPECTION OF SANITARY SEWER LINES, TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	LF	806	\$3.00	\$2,418.00	\$3.00	\$2,418.00	\$3.00	\$2,418.00	\$3.00	\$2,418.00
9. TRENCH SAFETY SYSTEM, ALL DEPTHS, ALL SIZES, COMPLETE IN PLACE	LF	806	\$2.00	\$1,612.00	\$2.00	\$1,612.00	\$2.00	\$1,612.00	\$2.00	\$1,612.00
SUBTOTAL ERVIN STREET PHASE 4 SANITARY SEWER ITEMS			-	\$202,433.00	_	\$164,769.10	-	\$190,831.00	_	\$300,594.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LIA JOB NO. CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES TO SERVE LANDING BLVD PHASE II & ERVIN STREET PHASE IV GALVESTON COUNTY MUNICIPAL UTILITY DISTRICT NO. 73 CITY OF LEAGUE CITY, GALVESTON COUNTY, TEXAS DECEMBER 06, 2024 LIA ENGINEERING, INC. C CORTEZ DECEMBER 09, 2024 0386-3066A (9.2)

			1) CRACON, INC		2) ICON GC LLC		3) BLAZEY CONSTRUCTION SERVICES LLC		4) R CONSTRUCTION CIVIL, LLC	
NO. ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
LANDING BOULEVARD PHASE 2 DRAINAGE FACILITY ITEMS 1. 24" R.C.P. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, WITH RUBBER GASKET JOINTS, INCLUDING BEDDING AND BACKFILL, COMPLETE IN PLACE		1463	\$97.50	\$142,642.50	\$119.00	\$174,097.00	\$79.00	\$115,577.00	\$150.00	\$219,450.00
2. 36" R.C.P. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, WITH RUBBER GASKET JOINTS, INCLUDING BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	85	\$164.75	\$14,003.75	\$221.00	\$18,785.00	\$136.00	\$11,560.00	\$310.00	\$26,350.00
3. 42" H.D.P.E. STORM SEWER, AASHTO M-294, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	104	\$124.00	\$12,896.00	\$176.00	\$18,304.00	\$105.00	\$10,920.00	\$240.00	\$24,960.00
 STAGE I – STANDARD S' PRECAST REINFORCED CONCRETE INLET ("H-2") ALL DEPTHS, INCLUDING ALL NECESSARY APPURTENANCES, COMPLETE IN PLACE 	. EA	12	\$2,808.00	\$33,696.00	\$3,320.00	\$39,840.00	\$1,679.00	\$20,148.00	\$1,650.00	\$19,800.00
 STAGE II – STANDARD 5' PRECAST REINFORCED CONRETE INLET ("H-2") ALL DEPTHS, INCLUDING ALL NECESSARY APPURTENANCES, COMPLETE IN PLACE 	EA	12	\$2,121.00	\$25,452.00	\$1,800.00	\$21,600.00	\$1,549.00	\$18,588.00	\$3,350.00	\$40,200.00
6. TYPE "C" MANHOLE FOR 42" STORM SEWERS AND SMALLER, ALL DEPTHS, COMPLETE IN PLACE	EA	7	\$4,260.00	\$29,820.00	\$4,970,00	\$34,790.00	\$3,616.00	\$25,312.00	\$4,200.00	\$29,400.00
7. TYPE "C" MANHOLE FOR 48" STORM SEWERS AND LARGER, ALL DEPTHS, COMPLETE IN PLACE	EA	2	\$6,245.00	\$12,490.00	\$5,750.00	\$11,500.00	\$7,535.00	\$15,070.00	\$11,300.00	\$22,600.00
8. FINAL ADJUSTMENT OF EXISTING AND PROPOSED MANHOLE ELEVATION AND INLET THROAT AND OPENING ELEVATIONS, COMPLETE IN PLACE	EA	11	\$300.00	\$3,300.00	\$1.00	\$11.00	\$88.00	\$968.00	\$150.00	\$1,650.00
CONCRETE BLOCKOUT FOR PROPOSED MANHOLES IN PAVED AREAS (PER DETAIL), COMPLETE IN PLACE	EA	1	\$450.00	\$450.00	\$680.00	\$680.00	\$351.00	\$351.00	\$1,500.00	\$1,500.00
10. TRENCH SAFETY SYSTEM, ALL DEPTHS, ALL SIZES, COMPLETE IN PLACE	LF	1652	\$2.00	\$3,304.00	\$2.00	\$3,304.00	\$2.00	\$3,304.00	\$2.00	\$3,304.00
11. T.V. INSPECTION OF STORM SEWER LINES, TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	LF	1652	\$3.00	\$4,956.00	\$3.00	\$4,956.00	\$3.00	\$4,956.00	\$3.00	\$4,956.00
12. 5" CONCRETE SLOPE PAVING WITH 2' MINIMUM TOE WALLS ALL AROUND, 2' CLAY LINER BELOW ALL SLOPE PAVING, AND EXPANSION JOINTS, PER DETAIL, COMPLETE IN PLACE	SY	88	\$80.00	\$7,040.00	\$255.00	\$22,440.00	\$140.00	\$12,320.00	\$190.00	\$16,720.00
13. 18" RIP RAP, COMPLETE IN PLACE	SY	81	\$125.00	\$10,125.00	\$238.00	\$19,278.00	\$126.00	\$10,206.00	\$160.00	\$12,960.00
14. TEMPORARY EARTHEN COFFER DAM REQUIRED FOR CONSTRUCTION, INCLUDES PUMPING, INSTALLATION AND REMOVAL UPON COMPLETION, COMPLETE IN PLACE	EA	1	\$4,200.00	\$4,200.00	\$8,500.51	\$8,500.51	\$7,600.00	\$7,600.00	\$10,900.00	\$10,900.00
 DRAINAGE SWALE, 4:1 SIDE SLOPES, V-BOTTOM, GRADED TO DRAIN, INCLUDING HYDROMULCH AND WATERING, AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE 	LF	1545	\$3.00	\$4,635.00	\$8.00	\$12,360.00	\$4.50	\$6,952.50	\$7.00	\$10,815.00
SUBTOTAL LANDING BOULEVARD PHASE 2 DRAINAGE FACILITY ITEMS			-	\$309,010.25		\$390,445.51	_	\$263,832.50	_	\$445,565.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LIA JOB NO.

REQUIREMENTS, COMPLETE IN PLACE

CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES TO SERVE LANDING BLVD PHASE II & ERVIN STREET PHASE IV GALVESTON COUNTY MUNICIPAL UTILITY DISTRICT NO. 73 CITY OF LEAGUE CITY, GALVESTON COUNTY, TEXAS DECEMBER 06, 2024
LIA ENGINEERING, INC.
C CORTEZ
DECEMBER 09, 2024
0386-3066A (9.2)

				1) CRACI	1) CRACON, INC		2) ICON GC LLC		3) BLAZEY CONSTRUCTION SERVICES LLC		4) R CONSTRUCTION CIVIL, LLC	
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	
ERVIN STREET PH 1. 24" R.C.	IASE 4 DRAINAGE FACILITY ITEMS P. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, WITH RUBBER JOINTS, INCLUDING BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	1070	\$92.00	\$98,440.00	\$119.00	\$127,330.00	\$79.00	\$84,530.00	\$140.00	\$149,800.00	
	- STANDARD 5' PRECAST REINFORCED CONCRETE INLET ("H-2") ALL , INCLUDING ALL NECESSARY APPURTENANCES, COMPLETE IN	EA	4	\$2,808.00	\$11,232.00	\$3,200.00	\$12,800.00	\$1,708.00	\$6,832.00	\$1,800.00	\$7,200.00	
	I – STANDARD 5' PRECAST REINFORCED CONRETE INLET ("H-2") ALL , INCLUDING ALL NECESSARY APPURTENANCES, COMPLETE IN	EA	4	\$2,121.00	\$8,484.00	\$1,800.00	\$7,200.00	\$1,549.00	\$6,196.00	\$3,400.00	\$13,600.00	
	E AND REPLACE EXISTING TYPE "E" INLET TOP WITH TYPE "C" DLE TOP, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$1,900.00	\$1,900.00	\$2,500.00	\$2,500.00	\$2,256.00	\$2,256.00	\$1,550.00	\$1,550.00	
	" MANHOLE FOR 42" STORM SEWERS AND SMALLER, ALL DEPTHS, ETE IN PLACE	EA	2	\$4,260.00	\$8,520.00	\$4,970.00	\$9,940.00	\$3,242.00	\$6,484.00	\$3,700.00	\$7,400.00	
	DJUSTMENT OF EXISTING AND PROPOSED MANHOLE ELEVATION LET THROAT AND OPENING ELEVATIONS, COMPLETE IN PLACE	EA	3	\$300.00	\$900.00	\$1.00	\$3.00	\$88.00	\$264.00	\$150.00	\$450.00	
	ITO EXISTING STORM SEWER MANHOLE AND CONNECT PROPOSED SEWER, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$600.00	\$600.00	\$1,400.00	\$1,400.00	\$5,495.00	\$5,495.00	\$850.00	\$850.00	
8. TRENCH	SAFETY SYSTEM, ALL DEPTHS, ALL SIZES, COMPLETE IN PLACE	LF	1070	\$2.00	\$2,140.00	\$2.00	\$2,140.00	\$2.00	\$2,140.00	\$2.00	\$2,140.00	
	PECTION OF STORM SEWER LINES, TO BE USED ONLY AT THE ON OF THE ENGINEER, COMPLETE IN PLACE	LF	1070	\$3.00	\$3,210.00	\$3.00	\$3,210.00	\$3.00	\$3,210.00	\$3.00	\$3,210.00	
SUBTOTAL ERVIN	STREET PHASE 4 DRAINAGE FACILITY ITEMS				\$135,426.00		\$166,523.00	T 5-27	\$117,407.00		\$186,200.00	
CONSTR	WS&D ITEMS ATION, MAINTENANCE AND REMOVAL OF STABILIZED RUCTION EXIT, SWMHCA SPECIFICATION NO. 4711, INCLUDES ATION AND REMOVAL (TO BE USED ONLY AS DIRECTED BY THE ER), COMPLETE IN PLACE	EA	1	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,800.00	\$1,800.00	\$1,000.00	\$1,000.00	
	LEAGUE CITY INSPECTION FEE, ONLY AT THE DIRECTION OF THE ER, COMPLETE IN PLACE	мо	5	\$5,500.00	\$27,500.00	\$5,500.00	\$27,500.00	\$10,450.00	\$52,250.00	\$5,500.00	\$27,500.00	
	ATION AND REMOVAL UPON COMPLETION OF CONCRETE UT AREA, COMPLETE IN PLACE	EA	1	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	
	D "A" CONSTRUCTION STAKING BY THE CONTRACTOR FOR WATER RY SEWER, AND DRAINAGE, COMPLETE IN PLACE	LS	1	\$23,000.00	\$23,000.00	\$35,000.00	\$35,000.00	\$11,925.00	\$11,925.00	\$13,000.00	\$13,000.00	
	WATER POLLUTION PREVENTION PLAN COMPLIANCE, INCLUDING ACTOR BOOKLET, COMPLETE IN PLACE	LS	1	\$1,000.00	\$1,000.00	\$1,750.00	\$1,750.00	\$1,375.00	\$1,375.00	\$1,000.00	\$1,000.00	
(ASSUM NEEDED	AL AND OFF-SITE DISPOSAL OF OLD GATHERING PIPELINES, ED TO BE EVACUATED AND WITHOUT CONTAMINANTS), AS , AS DIRECTED BY ENGINEER, INCLUDING ALL NECESSARY ENANCES, PER ALL NECESSARY ENVIRONMENTAL PROCEDURES AND	LF	500	\$23.00	\$11,500.00	\$38.00	\$19,000.00	\$15.00	\$7,500.00	\$17.00	\$8,500.00	

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LIA JOB NO. CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES
TO SERVE LANDING BLVD PHASE II & ERVIN STREET PHASE IV
GALVESTON COUNTY MUNICIPAL UTILITY DISTRICT NO. 73
CITY OF LEAGUE CITY, GALVESTON COUNTY, TEXAS
DECEMBER 06, 2024
LIA ENGINEERING, INC.
C CORTEZ
DECEMBER 09, 2024
0386-3066A (9.2)

			1) CRACO	ON, INC	2) ICON	GC ILC	3) BLAZEY CONSTRUCTION SERVICES LLC		4) R CONSTRUCTION CIVIL, LLC	
NO. ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
 CITY OF LEAGUE CITY INSPECTOR OVERTIME CHARGE, TO BE APPROVE THE ENGINEER, COMPLETE IN PLACE 	D BY HR	10	\$50.00	\$500.00	\$50.00	\$500.00	\$80.00	\$800,00	\$50.00	\$500.00
 WATER, SANITARY SEWER, AND STORM SEWER UTILITY SPOILS TO BE I AS FILL PER THE GRADING PLAN WITHIN SECTION, INCLUDES EXCAVAT HAULING AND COMPACTION TO 95% STANDARD PROCTOR DENSITY W MAXIMUM 8" LIFTS, AS DIRECTED BY THE ENGINEER, COMPLETE IN PL 	ION, VITH	3973	\$4.80	\$19,070.40	\$10.00	\$39,730.00	\$1.90	\$7,548.70	\$2.00	\$7,946.00
 OVER EXCAVATION OF UNSUITABLE MATERIAL FOR FILL PLACEMENT, A DIRECTED BY ENGINEER, COMPLETE IN PLACE 	AS CY	500	\$2.00	\$1,000.00	\$2.00	\$1,000.00	\$2.00	\$1,000.00	\$2.00	\$1,000.00
10. 6" P.V.C. SCHEDULE 40 IRRIGATION SLEEVES, AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE	LF	673	\$24.00	\$16,152,00	\$24.00	\$16,152.00	\$34.00	\$22,882.00	\$53.00	\$35,669.00
11. 18" HDPE PIPE FOR ACCESS ROAD CROSSING, AS DIRECTED BY ENGINE COMPLETE IN PLACE	ER, LF	30	\$81.50	\$2,445.00	\$87.00	\$2,610.00	\$41.00	\$1,230.00	\$110.00	\$3,300.00
12. 6" CRUSHED CONCRETE FOR ALL 14' ALL WEATHER ACCESS ROAD, AS DIRECTED BY ENGINEER, COMPLETE IN PLACE	SY	2934	\$23.00	\$67,482.00	\$22.00	\$64,548.00	\$29.00	\$85,086.00	\$22.00	\$64,548.00
 STABILIZED SUBGRADE PER NX650 GEOGRID FOR PROPOSED ACCESS R AS DIRECTED BY ENGINEER, COMPLETE IN PLACE 	OAD, SY	3675	\$2.35	\$8,636.25	\$10.00	\$36,750.00	\$17.00	\$62,475.00	\$4.00	\$14,700.00
SUBTOTAL MISCELLANEOUS WS&D ITEMS				\$180,285.65		\$246,540.00		\$256,871.70		\$179,663.00
BID SUMMARY										
LANDING BOULEVARD PHASE 2 WATER SYSTEM ITEMS				\$214,836.00		\$234,087.80		\$226,297.44		\$294,748.00
ERVIN STREET PHASE 4 WATER SYSTEM ITEMS	7 7			\$69,952.68		\$70,531.30		\$61,357.40		\$99,533.00
LANDING BOULEVARD PHASE 2 SANITARY SEWER ITEMS				\$758,854.91		\$797,103.29		\$1,093,014.32		\$2,201,528.20
ERVIN STREET PHASE 4 SANITARY SEWER ITEMS				\$202,433.00		\$164,769.10		\$190,831.00		\$300,594.00
LANDING BOULEVARD PHASE 2 DRAINAGE FACILITY ITEMS				\$309,010.25		\$390,445.51		\$263,832.50		\$445,565.00
ERVIN STREET PHASE 4 DRAINAGE FACILITY ITEMS				\$135,426.00		\$166,523.00		\$117,407.00		\$186,200.00
MISCELLANEOUS WS&D ITEMS				\$180,285.65		\$246,540.00		\$256,871.70		\$179,663.00
TOTAL AMOUNT BASE BID			· ·	\$1,870,798.49	-	\$2,070,000.00		\$2,209,611.36		\$3,707,831.20